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NEFHEEY—EXRSD
NEFHEXTE - NETHEEDOERRS)

B F ® B CEETEHL | SEETEHL = =5
I ZEEEUWA 1,381,000 1,054,000 327,000
—~ h XETH ZEEEURA 1,381,000 1,054,000 327,000
= | A I EEEI-EEZFETIRA 1,381,000 1,054,000 327,000
¥ EXFHRAGW) 1,381,000 1,054,000 327,000
& EXEXH 1,381,000 1,054,000 327,000
EEZJ ERERERERE XL 84,000 51,000 33,000
r | X L#REXH 30,000 20,000 10,000
3 EBRAEXIH 0 0 0
Iz HalEXH 1,255,000 971,000 284,000
X EHEXH 12,000 12.000 0
EREYRHE(2) _ 1,381,000 1,054,000 327,000
EXFTEESINZ EZ(B)=(1)-(2) 0 0 0
[T | I 0 0 0
siE | A [ERERZRAGAE) 0 0 0
5%
wiE | E | EREEETHEG) 0 0 0
T EREREEE ST =5(6)=(4)-(5) 0 0 0
=% A [Z0mOEBIRAGTD) 0 0 0
b))
— > % 0 0 0
Sol t [FOBOEHEMEE 0 0 0
b3 ZDMDEFENE S UNZ ZEEF8(9)=(7)-(8) 0 0 0
FlREXH0) 0 0 0
HHESIRZT EZAE(11)=(3)+(6)+(9)-(10) 0 0 0
AR ILVESZE2) 0 0 0
ZHERZIESERS(11)+12) 0 0 0
IRA&ET 1,381,000 1,054,000 327,000
XHEE 1,381,000 1,054,000 327,000
=51&5 0 0 0




BEN-EEEXRY—ERARS
(M AEXEC A —DEEERVEEEETE EEEXERUBEDAHRE)

B E & B CEEFEL | SEETES = B
ZEEEIWA 40,796,000 | 33,315,000 7,481,000
)} T XE#ZEEEIRA 40,796,000 | 33,315,000 7,481,000
A g EEXELI-FEZIESIA 40,796,000 | 33,315,000 7,481,000
EXFHRAGW) 40,796,000 [ 33,315,000 7,481,000
AEEXZH 34,815,000 | 27,939,000 6,876,000
B e 20,161,000 [ 15,184,000 4,977,000
- BEES X 5,822,000 | 4,635,000 1,187,000
= FEHHEHREXH 4,380,000 4,370,000 10,000
EEEFE 4,452,000 3,750,000 702,000
ES EXEXH 4,338,000 3,723,000 615,000
HEREEREXH 253,000 273,000 -20,000
& RIRFZH 183,000 183,000 0
Saflixt 540,000 237,000 303,000
B || =@fxm 374000 | 356,000 18,000
- HiREEEXH 50,000 50,000 0
- B & 324,000 306,000 18,000
£ fiR % 38 & % 42,000 42,000 0
1% 8 Rk E S H 42,000 42,000 0
3 PHEMREX H 112,000 134,000 -22,000
i ENRIE AR X 55,000 55,000 0
Iz BIEERE S H 493,000 493,000 0
EBRRAEXIH 1,202,000 961,000 241,000
X FREXZH 768,000 768,000 0
REF X H 45,000 45,000 0
HHlEXH 270,000 175,000 95,000
BEEXH 1,000 1,000 0
EBEXH 160,000 170,000 -10,000
RHEEERH 160,000 170,000 -10,000
EXEERHE(2) _ 39,313,000 [ 31,832,000 7,481,000
FEFHESINZ EE(3)=(1)—(2) 1,483,000 1,483,000 0

IR
o X [rrEREmAT® 0 0 0
Zrm %

58 H |EREHEXHEG) 0 0 0
A% 1 TR e S A2 IR 5 (6)-(4)(5) 0 0 0
— H—EXR N ERASZIRA 1,000 1,000 0
Z | Ur H—E AR S ERAEINA 1,000 1,000 0
DA FHBATBEY-LARDEBASINA 1,000 1,000 0
HS(%’ T DD FEIURA G (T) 1,000 1,000 0
X EXRSHEBRAEIH 1,483,000 1,483,000 0
g | X EXRSHBRAEXIH 1,483,000 1,483,000 0
= | & #HEEUMEERSERASIH 1,483,000 1,483,000 0
& TDMDEENZHET®) 1,483,000 1,483,000 0
2 Z DD EENE & INZ Z=%6(9)=(7)-(8) -1,482,000 | -1,482,000 0
FlaEXH0) 1,000 1,000 0
LHESINZ EZSET(11)=(3)+(6)+(9)-(10) 0 0 0
AR EEES(12) 0 0 0
LRI ILEEERS(U1)+(12) 0 0 0
IRA&EH 40,797,000 33,316,000 7,481,000
FHEET 40,797,000 33,316,000 7,481,000
=51&5 0 0 0
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B E B H CEETHL | SEETEL = =5
NEREREEIRA 11,732,000 | 11,397,000 335,000
BENEXENEFRIA 7,502,000 5,997,000 1,505,000
Iz TEEFIHIENMERIRA 7,502,000 5,997,000 1,505,000
NEFI-BEEEIERESENA 4,230,000 5,400,000 | -1,170,000
— EERA 4,230,000 5,400,000 [ -1,170,000
= ZHRFRESEIRA 1,000 1,000 0
A ZHRFIERSE A 1,000 1,000 0
E3 SIS EA VPN 1,000 1,000 0
. EXREHIRAGA) 11,733,000 | 11,398,000 335,000
& ANEBEXH 2,005,000 | 2,798,000 107,000
BB S5 H 2,509,000 2,512,000 -3,000
o EERANE X H 396,000 286,000 110,000
(= EREXW 10,644,000 | 10,390,000 254,000
HERE mRE X H 202,000 251,000 -49,000
x REEF X H 240,000 218,000 22,000
¥ SEHXH 1,416,000 1,301,000 115,000
% HFEZH 208,000 304,000 -96,000
HifREEETH 100,000 100,000 0
't BN E 108,000 204,000 96,000
Hi RSB X 5,000 42,000 37,000
= e RE X H 5,000 42,000 -37,000
HHEM T E X H 70,000 70,000 0
BiEE X H 200,000 200,000 0
FREARE T H 20,000 82,000 -62,000
BIEEREH 100,000 200,000 -100,000
EBRAEXIH 7,812,000 7,311,000 501,000
— FHAXH 370,000 410,000 -40,000
S BT HEEE 1,000 1,000 0
ﬁ% ¥ |EBEXH 40,000 40,000 0
iﬁﬁ EAEEERH 40,000 40,000 0
AR REE S T P R0) _ 13,589,000 | 13,228,000 361,000
I= EXETHERINTEE(3)=(1)~(2) -1,856,000 | -1,830,000 -26,000
[T | 4 0 0
S | A [RERZRATA@ 0 0 0
5%
e | X 0 0
% g | B MR EERHEG) 0 0 0
T MR B EEE & I E5(6)=(4)-(5) 0 0 0
—~ | IR 0 0
£ | A [Z0thDEBIRAGT) 0 0 0
P fé F—E AR D RERAS K 1,000 1.000 0
B | X Y—ERRAEREAR X H 1,000 1,000 0
Xz | AEN-EEY-LARSRBASXH 1,000 1,000 0
E3) ZTOMDEENTHET®) 1,000 1,000 0
(Z DD EFENE S UNZ ZEE8(9)=(7)-(8) -1,000 -1,000 0
FlREXH0) 1,000 6,000 5,000
L E ST EFAEET(11)=(3)+(6)+(9)-(10) -1,858,000 | -1,837,000 -21,000
AR ZILEEES(12) 1,858,000 1,837,000 21,000
LHERTILEEERS(11)+(12) 0 0 0
IRA&EH 13,591,000 13,235,000 356,000
FHEET 13,591,000 13,235,000 356,000
=51&5 0 0 0
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